

$$y^{(n+2)} x^2 + xy^{(n+1)} (2n+1) + (n^2+1)y^n$$

$$= x^2 y^{(n+2)} + (2n+1)xy^{(n+1)} + (n^2+1)y^n$$

1)  $y'' = y'(2x+1) + 2y$

$$y'' = y^{(n+2)} + n y^{(n+1)} \cdot \frac{n(n-1)}{2!} y^{n-2} + 0$$

$y'(2x+1)$  taking  $u=y'$  &  $v=2x+1$

$$y'(2x+1) = y^{(n+1)}(2x+1) + n y^n (2) + 0$$

$$2y = 2y^n + 0$$

Adding all terms;

$$y^{(n+2)} = y^{(n+2)}(2x+1) + 2n y^n + 2y^n$$

$$y^{(n+2)} = (2x+1)y^{(n+2)} + 2(n+1)y^n$$

one

Differentiating  $n$  times using Leibnitz theorem

$$U = y \quad V = x^2 y''$$

Taking  $U = y''$  &  $V = x^2$

$$x^2 y'' = {}^n C_0 y^{(n)} V + {}^n C_1 U^{(1)} V^{(1)} + {}^n C_2 U^{(2)} V^{(2)}$$

$$= (1) y^{(n-2)} x^2 + n y^{(n-1)} \cdot 2x + n(n-1) y^{(n)} \cdot 2$$

$$= y^{(n-2)} x^2 + n y^{(n-1)} \cdot 2x + n(n-1) y^{(n)} \cdot 2$$

to

$x y'$  - Taking  $U = y'$  &  $V = x$

$$x y' = (1) y^{(n+1)} x + n y^{(n)} (1) + 0$$

$$= y^{(n+1)} x + n y^{(n)} + 0$$

$$y = y^{(n)}$$

Adding all the terms

$$y^{(n+2)} x^2 + n y^{(n+1)} \cdot 2x + n(n-1) y^{(n)} \cdot 2 + y^{(n+1)}$$

$$= x^2 + n y^{(n)} + y^{(n)} \cdot (2n+1) + y^{(n)} (n(n-1) + n+1)$$

Ermentke - M. Winifred

16 Jan 1963

16/1/63

$$y = x^3 +$$

Civil Engr

Q①  $y = x^3 e^{4x}$

$$y = UV$$

$$U = e^{4x}$$

$$V = x^3$$

$$U' = 4e^{4x} \quad U'' = 16e^{4x} \quad U''' = 64e^{4x}$$

$$U^{(4)} = 1024e^{4x} \quad U^{(5)} = 256e^{4x}$$

$$V' = 3x^2$$

$$V'' = 6x$$

$$V''' = 6$$

$$y^{(5)} = U^{(5)}V + 5U^{(4)}V' + 10U^{(3)}V'' + 10U^{(2)}V''' + 5U^{(1)}V^{(4)} + UV^{(5)}$$

$$y^{(5)} =$$

$$y^{(5)} = 1024e^{4x} \cdot x^3 + 5 \cdot 256e^{4x} \cdot 3x^2 + 10 \cdot 64e^{4x} \cdot 6x + 10 \cdot 16e^{4x} \cdot 6 + 5 \cdot 4e^{4x} \cdot 0 + e^{4x} \cdot 0$$

$$y^{(5)} = 1024e^{4x} \cdot x^3 + 3840e^{4x} \cdot x^2 + 3840e^{4x} \cdot x + 960e^{4x}$$

$$y^{(5)} = e^{4x} (1024x^3 + 3840x^2 + 3840x + 960)$$

$$y^{(5)} = 64e^{4x} (16x^3 + 60x^2 + 60x + 15)$$

②

$$x^2 \frac{d^2y}{dx^2} + x \frac{dy}{dx} + y = 0$$

$$x^2 y'' + x y' + y = 0$$